<value xsitype="PQ~
value="150"/>
{entryRelationship
typeCode="COMP">
<observation
classCode="0BS" moodCode="EVN">
{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="75 & I &
s
<value
xsitype="BL" value="true” />
<{/observation>
</entryRelationship>
<{referenceRange>
<observationRange
classCode="0BS"” moodCode="EVN.CRT">
<{text>200-
300</text>
<{/observationRange>
<{/referenceRange>
</observation>
</entry>
<entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
<code code="CR11820"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="FR¥E" />
<text> A A A A text>
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150"/>
<entryRelationship
typeCode="COMP ">
<observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="1%5 & Z= &}
">
<value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
<referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
<{text>200-
300</text>
<{/observationRange>
</referenceRange>
</observation>
{/entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<{code code="CR11830"
codeSystem="1.2,392.200119.9.5.2000" codeSystemName="JMIX" displayName="0E ) /—4 1" />
<text> A A AAtext>
<{effectiveTime
value="20070103"/>
<value xsitype="PQ"
value="150"/>
<entryRelationship
typeCode="COMP ">
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<observation
classCode="0OBS” moodCode="EVN">
{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="75 & Z= &}
/>
<value
xsitype="BL" value="true” />
</observation>
</entryRelationship>
<{referenceRange>
<{observationRange
classCode="0BS” moodCode="EVN.CRT">
<text>200-
300</text>
{/observationRange>
</referenceRange>
</observation>
{/entry>
<entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
{code code="CR11840"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="1A2}"/>

&ext> Q0000000000
O</text>
{/observation>
</entry>

</section>
</component>
{component>

<{section>

{code code="CR11690"
codeSystem="1.2.392.200119.9.5.2000" displayName="7#4#0—7w7"/>
Ctitle> 1B WRER B < /title>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11700"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="F MIk%k" />
{text> A A AN /text>
. LeffectiveTime
value="20070103" />
. B <value xsitype="PQ"
value="150" unit="/ 1" />
. B {entryRelationship
typeCode= COMP ">
{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="4 & Z
s
<value
xsitype="BL" value="false” />
{/observation>
</entryRelationship>
<referenceRange>
{observationRange
classCode="0OBS"” moodCode="EVN.CRT">
text>200-
300</text>
</observationRange>
</referenceRange>
<{/observation>
</entry>
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<entry typeCode="COMP™">
{observation classCode="0BS"
moodCode="EVN">
<{code code="CR11710"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="7x MER% " />
<text > AAAANAtext>
{effectiveTime
value="20070103"/>
B <value xsitype="PQ”
value="150" unit="A/ 1" />
{entryRelationship
typeCode="COMP">
{observation
classCode="0BS” moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="7% & Z &)
e
<value
xsitype="BL" value="true” />
</observation>
<{/entryRelationship>
<{referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
<{text>200—
300<{/text>
<{/observationRange>
<{/referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11720"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="~E45 O > " />
lext> A A A A/ text>
{effectiveTime
value="20070103" />
o <value xsitype="PQ"
value="150" unit="g/dl" />
. . <entryRelationship
typeCode="COMP >
<{observation
classCode="0BS" moodCode="EVN">
{code
5:0de="GR11Bﬁ{)” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="# & Z &)
>
{value
xsitype="BL" value="false” />
<{/observation>
{/entryRelationship>
{referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
</observationRange>
{/referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
<observation classCode="0BS"”
moodCode="EVN™>
{code code="CR11730"
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codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="~< 5 JuF"/>
{texto A A NN text>
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150" unit="%"/>
y ~ {entryRelationship
typeCode="COMP ">
<{observation
classCode="0BS"” moodCode="EVN">
<code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="H EZ &)
v
’r " ’Z e <Va|ue
xsiitype="BL" value="true” />
</observation>
<{/entryRelationship>
{referenceRange>
s . ) . {observationRange
classCode=" OBS" moodCode="EVN.CRT" >
<{text>200-
300<{/text>
<{/observationRange>
<{/referenceRange>
</observation>
</entry>
{entry typeCode="COMP ">
. ) <observation classCode="0BS"
moodCode="EVN" >
<code code="CR11740"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="10/]\#i&" />
{text> A A A A text>
. <{effectiveTime
value="20070103" />
{value xsitype="PQ"
value="150" unit="R/ 1" />
) <{entryRelationship
typeCode="COMP">
{observation
classCode="0OBS"” moodCode="EVN">
<{code
Sfo/geZ"CF\’l 1860” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="7 & 2 &
- B . <{value
xsitype= BL" value="false” />
{/observation>
</entryRelationship>
{referenceRange>
. - i . <observationRange
classCode= OBS moodCode="EVN.CRT >
<text>200-
300</text>
</observationRange>
{/referenceRange>
{/observation>
</entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
{code code="CR11750"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JIMIX” displayName="AST" />
Ctext> A A AN text>
. B {effectiveTime
value="20070103" />
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<value xsitype="PQ"
value="150" unit="U/1"/>
<entryRelationship
typeCode="COMP ">
{observation
classCode="0BS"” moodCode="EVN">
<code
S?de:"CRHSBO" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="4 & Z &)
7
<value
xsictype="BL" value="true”/>
<{/observation>
</entryRelationship>
<{referenceRange>
{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
</observationRange>
<{/referenceRange>
</observation?
</entry>
<entry typeCode="COMP" >
{observation classCode="0BS”
moodCode="EVN">
<code code="CR11760"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="ALT"/>
{extO AANA A text>
<{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150" unit="U/1"/>
<entryRelationship
typeCode="COMP ">
{observation
classCode="0BS" moodCode="EVN">
<code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4 &5 &}
s>
<{vaiue
xsiitype="BL" value="false" />
</observation>
</entryRelationship>

<referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
<text>200-
300</text>
<{/observationRange>
</referenceRange>
<{/observation>

{/entry>
<entry typeCode="COMP"">
<observation classCode="0BS"
moodCode="EVN">
{code code="CR11770"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="#2E1JJLE " />
text> A A A A text?
{effectiveTime
value="20070103"/>
<value xsitype="PQ"
value="150" unit="mg/dl"/>
<entryRelationship
typeCode="COMP">




<{observation
classCode="0OBS"” moodCode="EVN">
{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX” displayName="H & Z &
"/
{value
xsitype="BL" value="true”/>
<{/observation>
<{/entryRelationship>
<{referenceRange>
{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
{/observationRange>
<{/referenceRange>
<{/observation>
{/entry>
{entry typeCode="COMP™>
{observation classCode="0BS"
moodCode="EVN">
{code code="CR11780"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="BUN" />
{text> A A A A text>
{effectiveTime
value="20070103"/>
<value xsittype="PQ"
value="150" unit="mg/dl" />
<{entryRelationship
typeCode="COMP">
<{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="8 & 2§}
g
<{value
xsitype="BL" value="false” />
<{/observation>
<{/entryRelationship>
<{referenceRange>
" " <observationRange
classCode="0BS” moodCode="EVN.CRT">
{text>200-
300</text>
{/observationRange>
</referenceRange>
<{/observation>
{/entry>
{entry typeCode="COMP">
{observation classCode="0BS”
moodCode="EVN">
<code code="CR11790"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="2L FF=>"/>
<text> A A A A/ text>
{effectiveTime
value="20070103" />
- = < : <value xsittype="PQ"
value="150" unit="mg/dl" />
B <{entryRelationship
typeCode="COMP ">
<observation
classCode="0OBS"” moodCode="EVN">
{code
code="CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="H E I &
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B <{value
xsitype="BL" value="true” />
</observation>
{/entryRelationship>
<{referenceRange>

{observationRange
classCode="0BS"” moodCode="EVN.CRT">
<{text>200-
300</text>
<{/observationRange>
<{/referenceRange>
</observation>
</entry>
<entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
<code code="CR11800"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="CRP" />
{text> A A A A text>
. . {effectiveTime
value="20070103" />
o ) ) <value xsitype="PQ"
value="150" unit="mg/dl" />
<entryRelationship
typeCode="COMP">
<{observation
classCode="0BS"” moodCode="EVN">
. B {code
93c>ie: CR11860" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="H EZ &)
<value
xsitype="BL" value="false” />
</observation>
</entryRelationship>
{referenceRange>
<{observationRange
classCode="0BS"” moodCode="EVN.CRT">
<text>200-
300</text>
</observationRange>
<{/referenceRange>
<{/observation>
{/entry>
<entry typeCode="COMP">
{observation classCode="0BS”
moodCode="EVN">
<{code code="CR11810"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="fR&> /42" />
{text> A AN A text>
{effectiveTime
value="20070103" />
. <value xsitype="PQ"
value="150"/>
. {entryRelationship
typeCode="COMP ">
<{observation
classCode="0BS"” moodCode="EVN">
{code
gode:"CRHSGO” codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="H EZ &)
/>
<value
xsitype="BL" value="true” />
<{/observation>
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</entryRelationship>
<{referenceRange>
{observationRange
classCode="0BS" moodCode="EVN.CRT">
<{text>200-
300</text>
</observationRange>
</referenceRange>
<{/observation>
{/entry>
<entry typeCode="COMP">
) <observation classCode="0BS"
moodCode="EVN">
<{code code="CR11820"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="FR$E" />
{texty A A A A text>
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150"/>
<entryRelationship
typeCode="COMP">
<{observation
classCode="0BS"” moodCode="EVN">
{code
E?de:"cm 1860 codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="48 B 2 &)
>
<value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
<referenceRange>
{observationRange
classCode="0BS"” moodCode="EVN.CRT">
{text>200-
300</text>
</observationRange>
</referenceRange>
</observation>
</entry>
{entry typeCode="COMP">
<observation classCode="0BS"
moodCode="EVN">
{code code="CR11830"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="r20E ") /—4>" />
{textr A A A AL text)
{effectiveTime
value="20070103" />
<value xsitype="PQ"
value="150"/>
<{entryRelationship
typeCode="COMP">
<observation
classCode="0OBS"” moodCode="EVN">
<{code
E3de="CR1 1860" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="H B Z T
>
<value
xsitype="BL" value="true” />
</observation>
</entryRelationship>
<referenceRange>
{observationRange
classCode="0BS"” moodCode="EVN.CRT">
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{text>200-
300</text>
{/observationRange>
<{/referenceRange>
<{/observation>
</entry>
<entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN™>
<{code code="CR11840"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="24/r"/>

<text> QOO0 0000000
O</text>
<{/observation>
<{/entry>

<{/section>
<{/component>
{component>

{section>

{code code="CR11870"
codeSystem="1.2.392.200119.9.5.2000" displayName="[fn & Z= ¥ EEBIE" />
<title> 1fn A0 ZE YR BE R </title>
<entry typeCode="COMP">
{observation classCode="0BS"
moodCode="EVN">
<code code="CR11890"
codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="2)E% : 4% B 4458 L1 +2

BLI TGRS />
<text>#FBEFRE 185205

</text>
<{effectiveTime
value="200701030400" />
<value xsitype="PQ" value="20"
unit="ng/ml” />
<{targetSiteCode
code="CR11930" codeSystem="1.2.392.200119.9.5.2000" displayName="3 &K~ />
</observation>
</entry>
{/section>
{/component>
{component>
{section>
{code code="CR11950"
codeSystem="1.2.392.200119.9.5.2000" displayName="J@&& A7 " />
Gitle> B AT < /title>
{entry>
<observation classCode="0BS"
moodCode="EVN">
<code code="CR11990"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="Hurts Even More” />
{effectiveTime
value="200701020000" />
<{/observation>

{/entry>
{/section>
<{/component>
</section>
<{/component>

{—
B S S A
SRR 2 R
B T
—D

{component>
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<section>
<code code="CR12020” codeSystem="1.2.392.200119.9.5.2000" displayName=" ;A& {2 &514@" />
<title> /R BR¥E & FF @</ title>
{text />
<{component>
{section>
<code code="CR12060" codeSystem="1.2.392.200119.9.5.2000" displayName="F M DL &%
OFEFHE” />
<title> AR AR P DR 2 DB FF </ title>
{entry>
<observation classCode="0BS” moodCode="EVN">
<{code code="CR12040" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="4>% T 2% (ZR@EHY" />
{text>abc<{/text>
<value xsitype="BL" value="true” />
</observation>
{/entry>
{/section>
</component>
{component>
<{section>
oy <code code="CR12070" codeSystem="1.2.392.200119.9.5.2000" displayName="HE B R BithHE
=
<title>H F R R B th B K F < title>
{entry typeCode="COMP">
<observation classCode="0BS” moodCode="EVN">
<code code="XXXX" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="abcdefg” />
<text> QOO0 O</t§:’xt> )
<effectiveTime value="200701021020" />
S <value xsitype="CD"” code="CR12090" codeSystem="1.2.392.200119.9.5.2000" displayName="th
b
<entryRelationship typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<code code="CR12200" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX"
displayName="ZEE&E" />
<value xsitype="CD” code="CR12130" codeSystem="1.2.392.200119.9.5.2000" displayName="
RTIZOENREETLDHEHLD” />
<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
<{code code="CR12240" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX”
displayName=";8E8 B IFFLE" />
{value xsitype="CD"” code="CR12230" codeSystem="1.2.392.200119.9.5.2000" displayName="
_EDPIULE" /S

<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP" >
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11280" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="40&" />
<value xsitype="CD"” code="CR12270" codeSystem="1.2.392.200119.9.5.2000" displayName="
ARXIZAROER" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
<code code="CR11270" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="85i&" />
{effectiveTime value="200701021020" />
pr=— <value xsitype="CD"” code="CR12310" codeSystem="1.2.392.200119.9.5.2000" displayName="
&~

</observation
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<{/entryRelationship>
{entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
<code code="CR12340" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName=";8E83EL D ERBEEFR" />
{value xsitype="CD" code="CR12360" codeSystem="1.2.392.200119.9.5.2000" displayName="
BEEHY” />
{/observation>
</entryRelationship>
{entryRelationship typeCode="COMP">
<{substanceAdministration classCode="SBADM” moodCode="EVN">
{consumable>
<manufacturedProduct>
{manufacturedLabeledDrug>
<{name>abc</name>
<{/manufacturedlLabeledDrug>
</manufacturedProduct>
<{/consumable>
</substanceAdministration>
</entryRelationship>
<entryRelationship typeCode="COMP">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<consumable>
<manufacturedProduct>
<{manufacturedlLabeledDrug>
<name>1234</name>
<{/manufacturedLabeledDrug>
</manufacturedProduct>
<{/consumable>
</substanceAdministration>
</entryRelationship>
<entryRelationship typeCode="COMP">
<{substanceAdministration classCode="SBADM" moodCode="EVN">
<{consumable>
<manufacturedProduct>
<{manufacturedlLabeledDrug>
<{name>5678</name>
</manufacturedLabeledDrug>
</manufacturedProduct>
<{/consumable’
<{/substanceAdministration>
</entryRelationship>
</observation>
</entry>
<{/section>
</component>
{component>
<{section>
{code code="CR12400" codeSystem="1.2.392.200119.9.5.2000" displayName="5 EHE & FoERE"

title> B EBRIEERBRE Utitle>
{entry typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
{code code="XXXX" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="abcdefg” />
<text> QOO0 0O/ text>
<effectiveTime value="200701021020" />
<value xsitype="CD" code="CR12090" codeSystem="1.2.392.200119.9.5.2000" displayName=""tf

i

EE"
{entryRelationship typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
{code code="CR12200" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="EEE" />
{value xsitype="CD" code="CR12130" codeSystem="1.2.392.200119.9.5.2000" displayName="
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RCIZDEARLBETROHDZLD” />
<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="CR12240" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="/8 R EIXHEE" />
<value xsitype="CD" code="CR12230" codeSystem="1.2.392.200119.9.5.2000" displayName="
WEPIE" >

{/observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="CR11280" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX"
displayName="40&" />
{value xsitype="CD" code="CR12270" codeSystem="1.2.392.200119.9.5.2000” displayName="
ARIXIZARODEE" />
<{/observation>
</entryRelationship>
{entryRelationship typeCode="COMP">
<observation classCode="0BS"” moodCode="EVN">
{code code="CR11270" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX"
displayName="85I%" />
{effectiveTime value="200701021020" />
<value xsitype="CD" code="CR12310" codeSystem="1.2.392.200119.9.5.2000" displayName="
KEIE" />
</observation>

</entryRelationship>
<entryRelationship typeCode="COMP ">
<observation classCode="0BS" moodCode="EVN">
<code code="CR12340" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName=";AERZELOERFEER" />
<value xsitype="CD" code="CR12360" codeSystem="1.2.392.200119.9.5.2000" displayName="
MEEHY” />
<{/observation>
</entryRelationship>
<entryRelationship typeCode="COMP ">
{substanceAdministration classCode="SBADM" moodCode="EVN">
{consumable>
<{manufacturedProduct>
<{manufacturedLabeledDrug>
<{name>abc</name>
<{/manufacturedLabeledDrug>
</manufacturedProduct>
<{/consumable>
{/substance Administration>
{/entryRelationship>
{entryRelationship typeCode="COMP">
<{substanceAdministration classCode="SBADM” moodCode="EVN">
{consumable>
<{manufacturedProduct>
{manufacturedLabeledDrug>
<{name>1234</name>
<{/manufacturedLabeledDrug>
</manufacturedProduct>
</consumable>
<{/substanceAdministration>
</entryRelationship>
{entryRelationship typeCode="COMP ">
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{consumable>
{manufacturedProduct>
<{manufacturedlLabeledDrug>
{name>5678</name>
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</manufacturedlLabeledDrug>
</manufacturedProduct>
<{/consumable’>
</substanceAdministration>
<{/entryRelationship>
</observation>
</entry>
<{/section>
{/component>
{component>
{section>
{code code="CR12410” codeSystem="1.2.392.200119.9.5.2000" displayName="5E& @ F1t" />
<title> 3B 0D Hh Ak < title>
<entry typeCode="COMP">
<observation classCode="0BS" moodCode="EVN">
{code code="CR12500" codeSystem="1,2.392.200119.9.5.2000" codeSystemName="JMIX"
displayName="38E&h It TR " />
{text>abcdefg{/text>
{effectiveTime value="200702030000" />
<value xsitype="CD"” code="CR12470" codeSystem="1.2.392.200119.9.5.2000" displayName="1{#
RELEQOHER" »
<{/observation>
</entry>
<{/section>
</component>
<{/section>
<{/component>
l=— skapokofoksokokkokskokor ok oksok ook okfoksksrokosk ko okskstokolok kR ook ok ok ——
</structuredBody>
<{/component>
<{/ClinicalDocument>

6. XML A ¥—-=

CDA.xsd

<?xml version="1.0" encoding="UTF-8" standalone="no"?>
{I—— edited with XMLSPY v2004 rel. 3 U (http://www. xmlspy. com) by Bob Dolin (HL7 CDA TC) —>
<{xs:schema targetNamespace="urn:hl7-org:v3” xmlns:xs="http://www. w3. org/2001/XMLSchema”
xmlns="urn:hl7-org:v3” xmins:mif="urn:hl7-org:v3/mif” elementFormDefault="qualified”>
<xs:include schemalocation="POCD_MT000040. xsd” />
<xs:element name="ClinicalDocument” type="POCD_MT000040.ClinicalDocument”/>
</xsschema>

POCD_MT000040.xsd

{?7xml| version="1.0" encoding="UTF-8” standalone="no"?>
{xs:schema targetNamespace="urn:hl7-org:v3” xmlns:mif="urn:hl7-org:v3/mif” xmins="urn:hl7-
org:v3” xmins:xs="http://www. w3. org/2001/XMLSchema” elementFormDefault="qualified”>
{I—
et s e ekttt of stk ok o sk ek i ok sk ki ok i e ok Sk KKK KKK K KK KKK K KR KKK K K K oK K K S R s o sk S ok ok
e e ok ok okoRoOROR ROk R Rk ok ok
* XML schema for message type POCD_MT000040.
* Generated by XMLITS version 2.0
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¥ ¥ X K K H KX X X K X * X X X ¥ * X ¥ ¥ ¥ *

Copyright (c) 2002, 2003, 2004, 2005 Health Level Seven. All rights reserved
Redistribution and use in source and binary forms, with or without
modification, are permitted provided that the following conditions
are met:

1. Redistributions of source code must retain the above copyright
notice, this list of conditions and the following disclaimer.

2. Redistributions in binary form must reproduce the above copyright
notice, this list of conditions and the following disclaimer in the
documentation and/or other materials provided with the distribution

3. All advertising materials mentioning features or use of this software
must display the following acknowledgement:

This product includes software developed by Health Level Seven.

THIS SOFTWARE 1S PROVIDED BY HEALTH LEVEL SEVEN, INC. AND CONTRIBUTORS “AS IS™ AND

ANY EXPRESS OR IMPLIED WARRANTIES. INCLUDING, BUT NOT LIMITED TO, THE

IMPLIED WARRANTIES OF MERCHANTABILITY AND FITNESS FOR A PARTICULAR PURPOSE

ARE DISCLAIMED. IN NO EVENT SHALL THE REGENTS OR CONTRIBUTORS BE LIABLE

FOR ANY DIRECT, INDIRECT, INGIDENTAL, SPECIAL, EXEMPLARY, OR CONSEQUENTIAL

DAMAGES (INCLUDING, BUT NOT LIMITED TO, PROCUREMENT OF SUBSTITUTE GOODS

OR SERVICES; LOSS OF USE, DATA, OR PROFITS; OR BUSINESS INTERRUPTION)

HOWEVER CAUSED AND ON ANY THEORY OF LIABILITY, WHETHER IN CONTRACT, STRICT

LIABILITY, OR TORT (INCLUDING NEGLIGENCE OR OTHERWISE) ARISING IN ANY WAY

OUT OF THE USE OF THIS SOFTWARE. EVEN IF ADVISED OF THE POSSIBILITY OF

SUCH DAMAGE.

sfestefeofsk sk ok sk ksl b sk ok kot skl ok sk ko kil ko ok troRafoR of skor stk ark st ok skl kg sk sk sk sk sk sk sk sk sk ok kR Ak Rk KKK
ook o ootk ok kR kR R ko R R ok R ok

—>
<xs:annotation>
{xs:documentation>Generated using schema builder version 2.0. Stylesheets:

RoseTreeToMIFStaticMode!. xs| version: 1.1
StaticMifToXsd. xs| version 2.0<{/xs documentation>

</xs:annotation>
<{xs:include schemalocation="../coreschemas/datatypes. xsd”/>
<xs:include schemalocation="../coreschemas/voc. xsd”/>
<xs:include schemalocation="../coreschemas/NarrativeBlock. xsd”/>
<xs:complexType name="POCD_MT000040. InfrastructureRoot. typeld”>
<xs:complexContent>
{xs:restriction base="11">
{xs:attribute name="root” type="uid” use="required”

fixed="2.16.840.1.113883.1.3"/>

<{xs:attribute name="extension” type="st” use="required”/>
</xs:restriction>
</xs:complexContent>
</xs complexType>
<{xs:complexType name="POCD_MT000040. Act™>
<{Xs:sequence
<{xs:element name="realmCode” type="CS" minOccurs="0"

maxOccurs="unbounded” />
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{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
{xs:element name="templateld” type="11" minOccurs="0"
max0ccurs="unbounded” />
<{xs:element name="i1d" type="11" minOccurs="0" maxOccurs="unbounded”/>
<{xs:element name="code” type="CD"/>
<{xs:element name="text” type="ED” minOccurs="0"/>
{xs:element name="statusCode” type="CS" minOccurs="0"/>
<{xs:element name="effectivelime” type="IVL_TS” minOccurs="0"/>
{xs:element name="priorityCode” type="CE” minOccurs="0"/>
<{xs:element name="|anguageCode” type="CS” minOccurs="0"/>
{xs:element name="subject” type="POCD_MT000040. Subject” minOccurs="0"/>
<{xs:element name="specimen” type="P0OCD_MT000040. Specimen” minOccurs="0"
maxOccurs="unbounded” />
{xs:element name="performer” type="POCD_MT000040.Performer2”
minOccurs="0" maxOccurs="unbounded”/>
{xs element name="author” type="P0OCD_MT000040. Author” minOccurs="0"
maxOccurs="unbounded” />
{xs:element name="informant” type="POCD_MT000040. Informant12”
minOccurs="0" maxOccurs="unbounded”/>
{xs:element name="participant” type="POCD_MT000040. Participant2”
minOccurs="0" maxOccurs="unbounded” />
{xs:element name="entryRelationship”
type="POCD_MT000040. EntryRelationship” minOccurs="0" maxOccurs="unbounded”/>
<{xs:element name="reference” type="POCD_MT000040. Reference”
minOccurs="0" maxOccurs="unbounded”/>
<{xs:element name="precondition” type="POCD_MT000040. Precondition”
minOccurs="0" maxOccurs="unbounded” />
{/xs sequencey
{xs:attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="classCode” type="x_ActClassDocumentEntryAct”
use="required”/>
{xs:attribute name="moodCode” type="x_DocumentActMood” use="required”/>
{xs:attribute name="negationlnd” type="b|” use="optional”/>
<{/xs complexType>
<{xs:complexType name="POCD MT000040. AssignedAuthor”>
{Xssequence>
{xs:element name="realmCode” type="CS" minOccurs="0"
max0Occurs="unbounded” />
{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
<{xs:element name="templateld” type="11" minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="id" type="11" maxOccurs="unbounded”/>
<xs:.element name="code” type="CE” minOccurs="0"/>
{xs.element name="addr” type="AD" minOccurs="0" maxOccurs="unbounded”/>
<xs:element name="telecom” type="TEL” minOccurs="0"
maxOccurs="unbounded” />
{xs:choice>
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<{xs:element name="assignedPerson” type="POCD MT000040.Person”
minOccurs="0"/>
<{xs:element name="assignedAuthoringDevice”
type="POCD_MT000040. Author ingDevice” minOccurs="0"/>
{/xs . choice>
{xs:element name="representedOrganization”
type="POCD_MT000040. Organization” minOccurs="0"/>
{/xs:sequence>
{xs:attribute name="nul|Flavor” type="Nul|Flavor” use="optional”/>
{xs:attribute name="classCode” type="RoleClassAssignedEntity” use="optional”
fixed="ASSIGNED" />
<{/xs:complexType>
<{xs:complexType name="POCD_MT000040. AssignedCustodian™>
{xs:sequence>
{xs:element name="realmCode” type="CS” minOccurs="0"
max0Occurs="unbounded” />
<{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
<{xs:element name="templateld” type="11" minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="representedCustodianOrganization”
type="POCD_MT000040. CustodianOrganization”/>
{/xs:sequence>
<xs:attribute name="nul IFlavor” type="Nul IFlavor™ use="optional”/>
{xs:attribute name="classCode” type="RoleClassAssignedEntity” use="optional”
fixed="ASSIGNED" />
</xs complexType>
<xs:complexType name="POCD_MT000040. AssignedEntity”>
{Xs:sequence>
{xs:element name="realmCode” type="CS” minOccurs="0"
maxOccurs="unbounded” />
{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
{xs:element name="templateld” type="11" minOccurs="0"
max0ccurs="unbounded” />
<{xs:element name="id" type="11" maxOccurs="unbounded”/>
<{xs:element name="code” type="CE” minOccurs="0"/>
<{xs:element name="addr” type="AD" minOccurs="0" maxOccurs="unbounded”/>
<{xs:element name="telecom” type="TEL" minOccurs="0"
max0ccurs="unbounded” />
{xs:element name="assignedPerson” type="POCD_MT000040. Person”
minOccurs="0"/>
{xs:element name="representedOrganization”
type="POCD_MT000040. Organization” minOccurs="0"/>
{/xs sequence>
{xs:attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="classCode” type="RoleClassAssignedEntity” use="optional”
fixed="ASSIGNED" />
</xs:complexType>
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<{xs:complexType name="POCD_MT000040. AssociatedEntity”>
{Xssequencey
{xs:element name="realmCode” type="CS” minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
<{xs:element name="templateld” type="I1" minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="id" type="I11" minOccurs="0" maxOccurs="unbounded”/>
<{xs:element name="code” type="CE” minOccurs="0"/>
<{xs:element name="addr” type="AD" minOccurs="0" maxOccurs="unbounded”/>
<xs:element name="telecom” type="TEL” minOccurs="0"
max0ccurs="unbounded” />
{xs:element name="associatedPerson” type="POCD_MT000040. Person”
minOccurs="0"/>
{xs:element name="scopinglOrganization” type="POCD_MT000040.0rganization”
minOccurs="0"/>
{/xs:sequencey
{xs:attribute name="nulIFlavor” type="Nul IFlavor” use="optional”/>
<{xs:attribute name="classCode” type="RoleClassAssociative” use="required”/>
</xs:complexType>
<{xs:complexType name="POCD_MT000040. Authenticator”>
{Xs:sequence>
{xs:element name="realmCode” type="CS” minOccurs="0"
max0Occurs="unbounded” />
<xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
<{xs:element name="templateld” type="11" minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="time” type="TS"/>
<{xs:element name="signatureCode” type="CS"/>
<xs:element name="assignedEntity” type="POCD_MT000040. AssignedEntity”/>
{/xs:sequence>
<{xs:attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="typeCode” type="ParticipationType” use="optional”
fixed="AUTHEN"/>
</xs complexType>
<{xs:complexType name="POCD_MT000040. Author”>
{xs:sequence
<{xs:element name="realmCode” type="CS” minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
<xs:element name="templateld” type="11" minOccurs="0"
max0ccurs="unbounded” />
{xs:element name="functionCode” type="CE” minOccurs="0"/>
<{xs:element name="time” type="TS"/>
{xs:element name="assignedAuthor” type="POCD_MT000040. AssignedAuthor”/>
{/xssequencey
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{xs:attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="typeCode” type="ParticipationType” use="optional”
fixed="AUT"/>
{xs:attribute name="contextControlCode” type="ContextControl” use="optional”
fixed="0P"/>
</xs:complexType>
<{xs:complexType name="POCD_MT000040. AuthoringDevice”>
<{Xs'6sequence>
<{xs:element name="realmCode” type="CS” minOccurs="0"
max0Occurs="unbounded” />
<{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
{xs:element name="templateld” type="11" minOccurs="0"
max0ccurs="unbounded” />
<xs:element name="code” type="CE” minOccurs="0"/>
<{xs'element name="manufacturerMode|Name” type="SC” minOccurs="0"/>
{xs:element name="softwareName” type="SC” minOccurs="0"/>
{xs:element name="asMaintainedEntity”
type="POCD_MT000040. MaintainedEntity” minOccurs="0" maxOccurs="unbounded”/>
{/xs:sequence>
{xs:attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="classCode” type="EntityClassDevice” use="optional”
fixed="DEV"/>
{xs:attribute name="determinerCode” type="EntityDeterminer” use="optional”
fixed="INSTANCE" />
<{/xs:complexType>
<{xs:complexType name="POCD_MT000040. Authorization™>
{xs:sequence>
<{xs:element name="realmCode” type="CS” minOccurs="0"
maxOccur s="unbounded” />
{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
{xs:element name="templateld” type="11" minOccurs="0"
max0Occurs="unbounded” />
{xs:element name="consent” type="POCD_MT000040. Consent”/>
{/xs:sequence>
{xs:attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="typeCode” type="ActRelationshipType” use="optional”
fixed="AUTH" />
</xs:complexType>
{xs:complexType name="POCD_MT000040.Birthplace”>
{xs:sequence>
{xs:element name="realmCode” type="CS” minOccurs="0"
max0ccurs="unbounded” />
{xs:element name="typeld” type="POCD MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
{xs:element name="templateld” type="11" minOccurs="0"
maxOccurs="unbounded” />
{xs:element name="place” type="POCD_MT000040.Place”/>
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</xs:sequence>
<{xs:attribute name="nul [Flavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="classCode” type="RoleClass” use="optional”

fixed="BIRTHPL" />

minOccurs="0"/>

minOccurs="0"/>

</xs . complexType>
<{xs:complexType name="POCD_MT000040. ClinicalDocument”>
{xs:seguence>

{xs:element name="realmCode” type="CS” minOccurs="0"

max0ccurs="unbounded” />

{xs:element name="typeld”

type="P0OCD_MT000040. InfrastructureRoot. typeld” />

{xs:element name="templateld” type="11" minOccurs="0"

maxOccurs="unbounded” />

{xs:element name="id" type="11"/>

<{xs:element name="code” type="CE"/>

<{xs:element name="title” type="ST” minOccurs="0"/>

<xs:element name="effectivelime” type="TS8"/>

<xs:element name="confidentialityCode” type="CE"/>

<{xs:element name="|anguageCode” type="CS" minlccurs="0"/>
{xs:element name="setld” type="11" minOccurs="0"/>

{xs:element name="versionNumber” type="INT” minOccurs="0"/>
{xs:element name="copyTime” type="TS” minOccurs="0"/>

{xs:element name="recordTarget” type="POCD_MT000040. RecordTarget”

maxOccurs="unbounded” />

<{xs:element name="author” type="POCD MT000040. Author”

max0ccurs="unbounded” />

<xs:element name="dataEnterer” type="POCD_MT000040. DataEnterer”

<{xs.element name="informant” type="POCD_MT000040. Informant12”

minOccurs="0" maxOccurs="unbounded”/>

<{xs'element name="custodian” type="P0OCD_MT000040. Custodian”/>
{xs:element name="informationRecipient”

type="POCD_MT000040. InformationRecipient” minOccurs="0" maxOccurs="unbounded” />

{xs:element name="legalAuthenticator”

type="POCD_MT000040. LegalAuthenticator” minOccurs="0"/>

<xs:element name="authenticator” type="POCD MT000040. Authenticator”

minOccurs="0" maxOccurs="unbounded”/>

<{xs'element name="participant” type="P0OCD_MT000040. Participantl”

minOccurs="0" maxOccurs="unbounded” />

<{xs:element name="inFulfillment0Of” type="POCD_MT000040. InFulfilIment0f”

minOccurs="0" maxOccurs="unbounded”/>

{xs:element name="documentation0f” type="POCD_MT000040. Documentation0f”

minOccurs="0" max0ccurs="unbounded” />

<{xs:element name="relatedDocument” type="POCD MT000040. RelatedDocument”

minOccurs="0" maxOccurs="unbounded” />

{xs:element name="authorization” type="POCD_MT000040. Authorization”

minOccurs="0" maxOccurs="unbounded”/>

<xs:element name="componentOf” type="POCD_MT000040. Component1”
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{xs:element name="component” type="POCD MT000040. Component2”/>
{/xs:sequence>
<{xs:attribute name="nul |Flavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="classCode” type="ActClinicalDocument” use="optional”
fixed="DOCCLIN"/>
{xs:attribute name="moodCode” type="ActMood” use="optional” fixed="EVN"/>
</xs:complexType>
<xs:complexType name="POCD_MT000040. Component1”>
{Xs!sequence>
<xs.element name="realmCode” type="CS” minOccurs="0
max0ccurs="unbounded” />
{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”

o

minOccurs="0"/>
<xs:element name="templateld” type="I1" minOccurs="0"
maxOccurs="unbounded” />
{xs:element name="encompassingEncounter”
type="P0CD_MT000040. Encompass ingEncounter” />
<{/xs:sequence>
<xs'attribute name="nul IFlavor” type="Nul IFlavor” use="optional”/>
{xs:attribute name="typeCode” type="ActRelationshipHasComponent” use="optional”
fixed="COMP"/>
</xs . complexType>
<xs:complexType name="POCD_MT000040. Component2”>
{xssequence>
<{xs:element name="realmCode” type="CS” minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>
{xs:element name="templateld” type="11" minOccurs="0"
max0ccurs="unbounded” />
{xs:.choice>
<{xs:element name="nonXMLBody” type="POCD_MT000040. NonXMLBody” />
<{xs:element name="structuredBody”
type="P0OCD_MT000040. StructuredBody” />
{/xs:choice>
{/xs:sequence>
{xs:attribute name="nul|Flavor” type="Nul IFlavor” use="optional”/>
{xs attribute name="typeCode” type="ActRelationshipHasComponent” use="optional”
fixed="COMP" />
{xs:attribute name="contextConductionlnd” type="bl” use="optional”
fixed="true”/>
{/xs:complexType>
<xs:complexType name="POCD_MT000040. Component3”>
{Xs:sequence,
{xs:element name="realmCode” type="CS” minOccurs="0"
maxOccurs="unbounded” />
<{xs:element name="typeld” type="POCD_MT000040. InfrastructureRoot. typeld”
minOccurs="0"/>

””

{xs:element name="templateld” type="11" minOccurs="0
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